
�����������	�
��ا��رة�و

�����ر���

�����191 1,60.10eV C−=346,62.10و�� .h J s−=83,00.10و�� /c m s=���
������1���


�رة�ا
���رو	��������
�ى�ا
�����ا�آ���.������	����������ا� !
)ا )n = ∞�


��+*(��ا
�رة�،�و��'��ا&�%$���#������"������$�,-�)�.��
�ى�� !
1nا =��.�
��ا�/
أ	�8#'/��7أو��5*��234ا�1��ا$�ت�.����.(�ا-,�ا
���
��
�ا#�9.�ا	�%3���.��

2nــ�� ��(�ت�ا
�����ذات�ا�4�اد�����1 =��2
6nإ �ا-,�$�1ت��?�رة�
�رة��=+
��.�ا
���رو	���

�ى�ذو������C"�����ه��ا�آ?��ا.��Aارا��2� !
��.�ــ�ا
�ى��3� !
3nــ�"4����"+��EAا
�رة����ا �ى��=� !
2nإ
�2ا =��F��+����G-

���H����4��Iإ�.��
4��!�")��4��Iرة�إ�
�ى��ــ�+���Fا� !

�K!3ل�-�ق�ا
�""4��K L����"+�����EAا
1n �ى��=� !
3nإ
�2ا =���
5������C����+�-�P�!+أن����.�.�
����ا�$��-��	�
�رة�ه��رو	���+��R!)3,39ــ�eV��.��

������2���

�S%4أ���	رو���

�رة�ا�����
��.�� ��!������Eا
1�����
�$��-��	�+���

�رة�ا
���رو	���ا���/"���T�")���
ــ�أ$ �8ا
�����ا

��)*�+��R
���.�.���.�ا
2���5U�2
�	��-��ا
�Lاغ���IWع��"��5�F%ل�ا���Aل����� ��ى�����Cإ!
�ل�اCــ�

�(���$�د�ه�ذ(��ا
.��661nm( �وي�� !�.��
������3���

�د(�م�'

�رة�ا�����
�(�ت�ا� !
��'��������	�����
��:�(!?������Eا
����	��ل��C$\ة���	ا��د(�م�+'3
��L�Cح���'�����F��"!
�ء�ا_
(����+/�E�3ا

589nm��.��

��ا�ا��IWع��1��A#��!
�ن�ا+�L
��.�ــ�أ$ ����C�8ا

��ا�ا����1ث��2�,#��!
��.�ــ�$�د�ا�1��Aل�ا

������4���

���%�
+����ا
2

13,6
nE

n
= )ب��− )eV�F�$���	رو���

�رة�ا�����
�(�ت�ا� �nد���4

�8	�1n&/��7و� ≥�.��

��ا�.�.���وا
/�1ن�ا
?%ث�ا�و
�2ا
!?�رة�و$�
��ا
�*(��#أ$ �8ا
�����ا
!���1ــ��1ــ��1�/

����ERا��A��
�(�ت�������234
2������3ــ��1� !
��.��?�Eه��Sا
2��.����ت���C����.ــ�#���أم�ذرة�ا
���رو	���-��$�
����ا+�-�P�!+أن���R!)���10, 2eV12,8و��eVو��

������Cن��+�,R!)�15"���ا��'�ص�- 2eV��.��

��:�ــ��-��$�
��ا�1�'�ص��3
��.��?�Eا�1�1�Aت�ا
!!R"���234ا
!�����1ــ��3
�ل���	���2ــ��3Cعأ$ �8+�دد�و��IWا������
���ت�ذات�ا+�L
�#���+�!
,10ا 2eV��.��

��.��234ا
���e$�د����cdه�ا�ا��IWع��3ــ��3
��:�ذرة�ا
���رو	���4"��+'�د�����ــ�ه��R!)�Eإ�fرة��4
��؟��5eVإ
R��ون���C���ا
/�آ����1ــ��4
��.���c�12eVإ
R��ون���C���ا
/�آ����2ــ��4


